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Risk Identification & Management Plan: Walking

	Walk group: _________________

	Person responsible: ____________________

	Date: ________

	TYPE OF RISK
(What is the situation and what is the potential result?)
	Risk potential
1= low risk of happening
5 = high risk of happening
	Severity of risk
1= low severity
5 = high severity

	Overall Risk
(Potential x severity) 

	Risk avoidance plan
(What to do to try to avoid it happening)
	Action
(If it does happen, what you need to do)

	A: People and Organisational

	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	





	TYPE OF RISK 
(What is the situation and what is the potential result?)
	Risk potential
1= low risk of happening
5 = high risk of happening

	Severity of risk
1= low severity
5 = high severity

	Overall Risk
(Potential x severity) 


	Risk avoidance plan 
(What to do to try to avoid it happening)
	Action 
(If it does happen, what you need to do)

	B: Environmental
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	






	TYPE OF RISK 
 (What is the situation and what is the potential result?)
	Risk potential
1= low risk of happening
5 = high risk of happening

	Severity of risk
1= low severity
5 = high severity

	Overall Risk
(Potential x severity) 
	Risk avoidance plan
(What to do to try to avoid it happening)
	Action 
(If it does happen, what you need to do)

	C: Other hazards including Equipment
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